

Chapter 3 Riddle Answer
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1.  direct variation

                    14 15  17
2.   line of best fit

          13             6
3.  positive trend

     9
4.  linear trend

           18     19    2
5.  rate of change

               10                20
6.  partial variation 

                                      5  7
7.  linear relations hip

                 21             11
8.  negative trend

       4                     16
9.  initial value

              3
10.  trend

                            8
11.  y-intercept 

           1
12.  scatter plot 


Riddle Answer: 
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